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Addition exercises

Write the correct expression for the following statements

1. A zoo has 3 lions, 5 monkeys and 8 tigers.

Write the correct expression for the sum of animals in the zoo.

2. Peter's school bag has 3 exercises books, 4 text books and 3 novels.

Write the correct expression for the sum of books in Peter's school bag.

3. Mary's garden has 3 pear trees, 6 mango trees and 9 apple trees.

Write the correct expression for the sum of trees in Mary's garden.

4. A hall has 2 palours each having 4 chairs.

Write the correct expression for the sum of chairs in the hall.

5. A car park contains three sports cars, eight mail vans and 2 buses.

Write the correct expression for the sum of vehicules in the car park.




Answers

Write the correct expression for the following statements

1. A zoo has 3 lions, 5 monkeys and 8 tigers.

Write the correct expression for the sum of animals in the zoo.

2. Peter's school bag has 3 exercises books, 4 text books and 3 novels.

Write the correct expression for the sum of books in Peter's school bag.

3. Mary's garden has 3 pear trees, 6 mango trees and 9 apple trees.

Write the correct expression for the sum of trees in Mary's garden.

4. A hall has 2 palours each having 4 chairs.

Write the correct expression for the sum of chairs in the hall.

5. A car park contains three sports cars, eight mail vans and 2 buses.

Write the correct expression for the sum of vehicules in the car park.
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